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1) Let 𝑌1 and 𝑌2 be iid with a uniform distribution on the interval [𝜃, 𝜃 + 1]. For testing 

𝐻0 : 𝜃 = 0 𝑣𝑠. 𝐻𝑎 : 𝜃 > 0  consider the test:  

Reject 𝐻0  if 𝑌1 +  𝑌2 > 𝑐.  

Find c such that the level of the test is 0.05. 

  

 Justify your work – state theorems and 

results you are using 

 

 Show all details 



2) 𝑌1, ⋯ 𝑌4 are iid with distribution  𝑓(𝑦|𝜃) = {
1

𝛤(3)𝜃3 𝑦3−1𝑒−𝑦/𝜃                         𝑦 > 0

0                                             𝑜𝑡ℎ𝑒𝑟𝑤𝑖𝑠𝑒 
 

 

a) Find the rejection region of the most powerful test of 𝐻0 : 𝜃 = 𝜃0 𝑣𝑠. 𝐻𝑎 : 𝜃 = 𝜃𝑎 . 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

b) Is the test given in part (a) uniformly most powerful? Explain. 


